MQ Faﬁmrin%_lgg&giug \44-«-3

S NET SN 2. Ax’-100
. 43‘(_5_)1-'113\,1 10)( 3 x-t
I (&CF) (dif€. of Sqpaa~<s)

3, X*r3x-Ho 4, X =Sx -4

<40 i,
th-s X+ -S) 1| -Qg. 3 (x-%) th—; )
y(az1) e L
St it (ax-4d2%+1) |
1  Sadall stipmdiwidr ——
O Groupinegy—
s, X -%*43x-3 . Sx*-1SX-20 .
S(x*-3w-&) 19’<!
% ( %- - /
* - -4 ) X+
(Brouping) CeF € X-qames
/ Ca=1)

2. XCtuxt-2Sx=1So B 44wt -ux
O - 25 (X FeS r_‘*ﬁ.()‘_i_)_l% ORITEDA LY
(x"m}i‘jﬂ\. !&W b T

i————f%rs—%*-%}{—x«l-b‘ - JW
- |
(6rougng § DifL, o-t-‘”i;b-)




A (lui'- l 10._lox"= 20x”
(x +)(x*-1\
2% (3-10%")

Mt N (26D 2=

(eCF)

£ .4 A
(i of Sgpmacs twie

1L.

Sx - 4Ox* - 240%

12, Xax- -1

Sx(x*=dx -4%Y W/

-u§ q
Sx (%1 ;)L\u?)

(ece £ X =9a i\
J
- 331 |
¢
13 4Bx"+BBx =St 4.
B(Lx?+iix=-") W rilox - -3
S(x-3)(x414y " "X 2%
AR CTON TN
e 3 3
(2%~ +7 L% ( X+ -2)
{_MF—&;&M-IJI{. (&cF ¢ Supn driok
(,Q.f.,) ] Iav; A




@

p—— Y

L—-\_\__

M—I Z_z xf— (4 x+)

x4 LU =12 % =2 o, B -y’
2P Hxe) = 3R +1N 1(x -
9 % >
| > -

S e ) (6¢F € Dt of Sqr
-h..n'u.\'
7. M -49 19, 9-18x"
..-,\j 3
R . _ -~ “IZ |- L)L
(SFF ofF Sag, >
) e
@
4. 20. Sx®+25¢ + 20 +12

\(t +""'X"“+8 \ &
Ve

(D0 | AN X (Sx 42D L{Sx+2)
D"ﬁ“—;-:i’) \(’54'&95! SZ:-‘LS I o
LW?TS)




